(0 @) (rad)

P W0 W

-

‘10t 1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

10

Ratl

100% i |.

iy
TTTT T T

+ 11 B RINHES

0.95
-1 2 3
10 1 TPlpOT (PCA 1 beamiinéf

—s=— DQM_V0001_R000000001__Global__mkFitQCDi1_ RECO
—— DQM_V0001_R000000001__Global__mkFitQCDmod__RECO

SICEWATL

) I ATV
10VSE
% E : 1114
x 1:— ------ LIT <444 44 :-0-0-1» PUNEPUUL 7 SR
E 1 :
0.95F------f SRR E C AR A 2 Y R EREe
- . - .
E 5 1
Q
.9
107
~ 1
o
-
o
o
S
5

01011_ ! A A
= E 11k 1
] E T +
x 1.05 ol | 1 S R N
Eo LR
0.95 -_1 L L ANNR H
10 1

2 3
TPl[:g)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

=
<
i

Tl
0.95— -
10 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


